EXERCISE 3.5

Q.1 1If s varies directly as u? and inversely
asvand s =7, when u =3, v=2. Find the
value of s whenu=6andv=10
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To find K,
Put s=7=, u=3, v=2 inequation (i)
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To find s,
Now put, u=6 and v=10 in equation (i)
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Q.2 If w varies jointly as x, y? and z and
w=5 whenx=2, y=3, z=10. Find w
when x=4, y=7 and z=3.
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To find kK,

Put w =5, x =2, y = 3 and z =10 in equation (1)
5=k (2)(3)2(10)
5=k (20) (9)
5=k (180)
5

N

180

= k=
18036
_ b
36
Putk =— inequation (1)
W_L)C 2z (i)
36 V2 Z e
To find w,
Now put x =4, y=7, z=3 inequation (ii)
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Q3 It y varies directly as x3 and
inversely as z2 and t, and y =16 when x =4,
z=2,t= 3. Find the value of y when x =2,
z=3andt=4.

Solution:
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To find k,

Puty =16,x =4,z = 2 and t = 3 in equation (i)
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Put k =3, in equation (i)
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To find y,
Now, put x =2, z=3 and t = 4 in equation (ii)
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Q.4 If u varies directly as x? and inversely as
product yz3, and u=2, whenx =8,y =7,

z = 2. Find the value of u when x =6,y=3,z = 2.
Solution:
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To find k,
Putu=2, x=8,y=7and z=2 in equation(i)
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To find u,
Now put x =6,y =3, z=2 in equation (ii)
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Q.5 It v varies directly as the product xy?
and inversely as 22 and v = 27 when x =7,

Yy =6, z=7.Find the value of V when x =0;
y=2, z=3.
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To find k,

Put v=27, x= 7, y=6, z=7 in equation(i)
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To find v,
Now, put x =6, y =2, z =3 in equation (ii).
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Q.6 If w varies inversely as the cube of U,
and w =5 when U =3. Find w, when U = 6.

. 1 W=5 WZ?
Solution: |w o< —
wlu=3|{lu=6

To find k,
Put w=>5and u =3 in equation (i)
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To find w,

Now , Put u =6 in equation (ii)
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